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20198hd = sk A4 0 5,500,000 5,500,000
20198t = St gsh T A9 0 4,300,000 4,300,000
20198 e SpAd A S Stk & 0 1,100,000 1,100,000
A

20198hd = st st A 0 1,065,240 1,065,240
SuASEs 9 g EEH A4 244,200 0 244,200
A A Bt S A Y 862,470 0 862,470
_ 1,106,670 11,965,240 13,071,910
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20198hd = g3k A4 5,500,000 5,500,000 0
20198t = St sh e A9 4,300,000 4,300,000 0
201980 d = SAEA KSR T 1,100,000 234,760 865,240
Lkl

20198t A= 4 Fots A 1,065,240 1,065,240 0
SuASgs 9 S dEn A 244,200 0 244,200
A A B St AA] e A Y 862,470 789,330 73,140
_ 13,071,910 11,889,330 1,182,580
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